STTSFO1 Smartseat Easy (ISOFIX)

SMART FL§OR

Flexibility inside




Smartseat Easy SMART FL§OR

Flexibility inside

Partnumber

S1TSFO1v00

31 26

32 23

33 24

30 25

33 30
10o0r 11

=

9 7or8 —\1 9

14 or 15 2



O 00 N OO0 O A WN —

W W W W W W W N N N N N N DN N NN DN DN 2 === =3 = a3 = =
o O AW N = O Vv 00 N 00 0 A W W N = O W 0 N O O B W N = O

—_

N O KA N N N N N N N NN

Productname

Seat cushion foam

Seat cushion ABS insert

Seat cushion holder

4,8x14 rivet

Backrest foam

Backrest foam with ISOFIX sockets
Backrest rear ABS cover

Backrest rear ABS cover with ISOFIX socket
22x24 Plastic plug

Backrest frame

Backrest frame with ISOFIX fixings
7/16" Washer

7/16"x3/4" UNF screw

Seat frame

Seat frame with ISOFIX fixing
Armrest Tip up right

Armrest Tip up left

Purlight symmetric armrest adapter
M8x18 Screw

M8x18 Screw

Plastic armrest plug

Regulation screw

169 hand holder Yellow

169 hand holder Black

169 hand holder plug

M5x30 Screw

12x9 steel bushing

ABS left cover

ABS right cover

Plastic right pillar loop

Plastic left pillar loop

Headrest

Headrest bushing with lock
Headrest bushing

Smartseat Easy 3-point seat belt
Smartseat Easy seat belt holder

Retractor fixing boundle

SMARTFL()OR

Flexibility inside

Part number
S1TSFO1-01-01-03-02v00
S1TSFO1-01-01-03-01v00
10020736
NNIT4,8x14CPO
S1TSFO1-01-01-01-02v00
S1TSFO1-02-01-01-02v00
S1TSFO1-01-01-04v00
S1TSFO1-02-01-03v00
TDOB36
S1TSFO1-01-01-01-01v00
S1TSFO1-02-01-01-01v00
ASTM F436-7/16

AS 2465 - 7/16 x 3/4 UNF
S1TSFO1-01-01-02v00
S1TSFO1-02-01-02v00
10019047

10019046

MPOD PIM vO1
STMEDO1-10v00

DIN 7984-M8x16

ISO 7380 - M8 x 16

MZA F14,3C

10019050

10019049

A-004-2

ISO 4762 - M5 x 30
S2NOV01-01-07v03
S1TSFO1-01-01-06v00
S1TSFO1-01-01-05v00
S-01-04-0004
S-01-04-0003
S1TSFO1-01-01-07v00
TTPZZB

TZPZBB

10020733

10020734

10020735



Seat cushion foam SMARTFL()OR

Flexibility inside

Partnumber

ST1TSFO1-01-01-03-02v00

—

\\ 170
458

( |

S ot 356|422




Seat cushion ABS insert SMARTF L§ OR

Flexibility inside

Partnumber

S1TSFO1-01-01-03-01v00

Bk

438

2 x 223

193 T— " —————"—1" |2

340
403




Seat cushion holder SMARTF L§ OR

Flexibility inside

Partnumber

10020736

15

\_/

230




4,8x14 rivet SMART FL§OR

Flexibility inside

Partnumber

NNIT4,8x14CPO




Backrest foam SMART FL§ OR

Flexibility inside

Partnumber

S1TSFO1-01-01-01-02v00

=

416 174




Backrest foam with ISOFIX sockets

Partnumber

SMARTFL

Flexibility inside

Bor

S1TSF01-02-01-01-02v00

664

416

il

174




Backrest rear ABS cover

Partnumber

SMARTFL

Flexibility inside

Bor

S1TSFO1-01-01-04v00

o
i
|
|
v b4
|
|
4
Fo- A
Ll
4
335

6xa9

709

66




Backrest rear ABS cover with ISOFIX socket

Partnumber

SMARTFL

Flexibility inside

Bor

S1TSFO1-02-01-03v00

6xa9

709

65




22x24 Plastic plug SMARTF L§ OR

Flexibility inside

Partnumber

TDOB36

g6
——
o~ <
— N
7
\ /




Backrest frame SMARTF L§ OR

Flexibility inside

Partnumber

S1TSFO1-01-01-01-01v00

402 174




Backrest frame with ISOFIX fixings SMARTF L§ OR

Flexibility inside

Partnumber

S1TSFO1-02-01-01-01v00

== ==
I J |
1 —
== ==
'S
| S—
402 174




7/16" Washer

Partnumber

SMARTFL

Flexibility inside

Jor

ASTM F436 - 7/16

223

212




7/16"x3/4" UNF screw SMART FL§ OR

Flexibility inside

Partnumber

AS 2465 - 7/16 x 3/4 UNF

=~
7/16-20 UNF
o O
— N
™
< P




Seat frame SMART FL§OR

Flexibility inside

Partnumber

S1TSFO1-01-01-02v00

o
o
o,
o
©
e
o
o
75

- 434
o [ -
1] |
[ jm]

. .
R e I
- -

] jm )|

. +
) ] =




Seat frame with ISOFIX fixing SMARTF L§ OR

Flexibility inside

Partnumber

S1TSF01-02-01-02v00

oo @oo @ ° °° =
= [ .
Il +
CJ jm)
| + +
-8 s
+ +
(I jmjj
| T
= u
446




Armrest Tip up right & left SMART FL§ OR

Flexibility inside

Partnumber

Right: 10019047 | Left: 10019046

220

83

355




Purlight symmetric armrest adapter

Partnumber

SMARTFL

Flexibility inside

OR

STMEDO1-10v00

20

29

32

35

220

65

49




M8x18 Screw SMART FL§OR

Flexibility inside

Partnumber

DIN 7984 - M8 x 16

M8x1.25

21

16

@13

21



M8x18 Screw SMART FL§OR

Flexibility inside

Partnumber

ISO 7380 - M8 x 16

M8x1.25

20

14

@14

22



Plastic armrest plug SMARTFL()OR

Flexibility inside

Partnumber

MZA F14,3C

p—— e — [\
I
I
S 2 Y
214
o -
@17




Regulation screw SMARTFL()OR

Flexibility inside

Partnumber

NWRYPA-044-000-003/ASZT

34

M10x1.5

N

16

24



169 hand holder Yellow | Black SMARTFL()OR

Flexibility inside

Partnumber

Yellow: 10019050 | Black: 10019049

2x@23

61

25



169 hand holder plug SMART FL@OR

Flexibility inside

Partnumber

A-004-2

@14

26



M5x30 Screw SMARTF L§ OR

Flexibility inside

Partnumber

ISO 4762 - M5 x 30

30
35

M5x0.8

29

27



12x9 steel bushing SMARTF L§ OR

Flexibility inside

Partnumber

S2NOV01-01-07v03

@12

©)

28



ABS left cover SMARTFL()OR

Flexibility inside

Partnumber

S1TSFO1-01-01-06v00

30

267

129

\ 3x @6

29



ABS right cover SMARTFL()OR

Flexibility inside

Partnumber

S1TSFO1-01-01-05v00

30

267

129

3x @6

30



Plastic right pillar loop

Partnumber

SMARTFL

Flexibility inside

OR

S-01-04-0004

31

o4

-~

N

-
~

5&%\@%&?&1’ OR

/

78

90

63




Plastic left pillar loop

Partnumber

SMARTFL

Flexibility inside

Bor

S-01-04-0003

32

78

90

63




Headrest

Partnumber

33

S1TSF01-01-01-07v00

T

) e o “—””//

210

180

. B

236

106

SMARTFL

Flexibility inside

368

OR




Headrest bushing with lock SMARTF L§ OR

Flexibility inside

Partnumber

TTPZZB

o
o
211
r ~
o~
™
A v,

34

34



Headrest bushing SMART FL§OR

Flexibility inside

Partnumber

TZPZBB

,.,_
(I

100

211

/)
32

34




Smartseat Easy 3-point seat belt SMARTF L§ OR

Flexibility inside

Partnumber

10020733

36



Smartseat Easy seat belt holder SMARTF L§ OR

Flexibility inside

Partnumber

10020734

37



Retractor fixing boundle SMARTFL()OR

Flexibility inside

Partnumber

10020735

38



Notes SMART FL§OR

Flexibility inside

39



SMARTFL()OR

Flexibility inside

Netherlands, Belgium and Luxembourg Germany
SMARTFLOOR B.V. AMF-Bruns Gustav Bruns GmbH & Co. KG
Veldkampsweg 26 Hauptstrafle 101
7605 AR Almelo D-26689 Apen
Nederland Postfach 160

Telefoon : +31 546 45 55 65

www.smartfloor.nl

info@smartfloor.nl

United Kingdom
AMF - Bruns UK LTD
Unit 4, Parkway Four

Longbridge Road
Trafford Park
Manchester

M17 1SW
Tel. +44 161 872 7951
www.amf-bruns.com

info@amf-bruns.co.uk

United States
AMF-Bruns of America
1500 Canton Road
Suite 208
Akron, Ohio 44312

www.amfbrunsamerica.com

D-26689 Apen
Tel. +49 44 89 72 71 01
www.amf-bruns.de

hubmatik@amf-bruns.de

Germany
AMF-Bruns Gustav Bruns GmbH & Co. KG
Eschstr 24
26169 Friesoythe
Tel. +49 449 1888

www.amf-bruns.de

Asia
Smartfloor Seating (Thailand) Co. Ltd
Kunwang Place 165/86
T.:Sanprapao A.: Sansai
Chiang Mai 50210 Thailand



